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Instructions:-

1) Solve any two questions
2) All question carry equal marks

Q1: 

A) Read the passage and answer the question. (4M)

The Titanic was a huge passenger ship. It was provided with all possible 
luxuries and comforts. It was on its f irst voyage to America. There were 2200 
passengers on board. The sea was calm. The ship was moving at its normal 
speed. Around midnight there was an alarm call from the bridge of the ship. The 
man on duty had sighted an iceberg ahead. The captain ordered h is men to 
change the course of the ship. But before his order could be carried out, the 
Titanic had collided against the huge iceberg. It was a fatal blow, ice fell all over 
the decks of the ship and burst into six of the watertight compartments. The 
Titanic which enjoyed the reputation of being unsinkable was sinking now.

Tick on correct option:

1. What was Titanic? 1 M

a) Titanic was a huge cargo ship.   b) The Titanic was a small passenger bus.

c) Titanic was a place in America.  d) Titanic was a huge passenger ship.

2. What reputation did Titanic enjoy? 1M

a) Sinking now (b) Sinkable (c) Unsinkable (d) Huge passenger ship

3. How many passengers were there and where was the Titanic going? 1M

a)  2200, America b) 2200, Australia c) 1200, America d) 1500, Antartica

4. Choose the alternative most opposite (antonym) to the word fatal. 1M

a) Deadly b) Destructive c) Beneficial d) Lethal



B) Justify the communication is a cyclic process? (3M)

C) State the importance of a formal reports. (3M)

Q 2

A)  Use of not only ---------- but also in following sentences (4M)

a) He’s funny, he’s intelligent. (2M)

b) Shirish is going to Egypt for a month; he’s going to Greece for a couple of 
weeks. (2M)

B) Explain the various barriers in the process of communication? (3M)

C) What are the contains of the formal reports? (3M)

Q 3 

A) Do as directed: (4M)

a) We won a basketball match at Ngpur (Change the voice)

b) Qutab Minar is  the tallest minaret in India. (change into comparative 
degree)

B) Explain an any organization chart: (3M)

C) What is the important points of the evaluation of proposal. (3M)

Q 4 

A) 1 Write a synonyms of (4M)

1) Hardworking………………. Intelligent …………………. 

2) Honest ……………………- Bossy ………………………

2 Write a antonyms of 

Entrance …………………….. Exterior……………………..

Pass ………………………… push ………………………..

B) Explain any two (3M)

a) Semantic b) Psycho-physical, c) Attitudinal

C) Write a proposal for organizing a ‘Technical paper contest’ in your 
college? (3M)


